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ÍÛæ̃ Û¶ÛÛ :   (1) ¼ÛµÛÛ ¸ÛóÊ¶Û¶ÛÛ •Ûä̈ Û ÍÛÁõ”ÛÛ ™öé. 
Instructions :  All questions carry equal marks. 

    (2) ›÷ÄõÁõà ›÷¨ÛÛýÛ ©ýÛÛ× ÍÈÛ˜™ö …ÛïèõÜ©Û þùÛéÁõÛé. 
     Use suitable diagram if necessary. 

 

1. ‘©ÛäÅÛ¶ÛÛ©¾Ûïõ ”Û˜ÛÙ ©ÛºõÛÈÛ©Û …Û×©ÛÁõÁõÛÌ¤ÖøàýÛ ÈýÛÛ¸ÛÛÁõ ¾ÛÛ¤éø¶Ûä× ïõÛÁõ¨Û ™öé.’ ¤øàïõÛ©¾Ûïõ ˜Û˜ÛÛÙ ïõÁõÛé. 14 
 “Comparative cost difference is the cause of the International Trade” – Critically 

examine. 

    …¬ÛÈÛÛ/OR 

 (a) ‘¸ÛÛÁõÍ¸ÛÜÁõïõ ¾ÛÛ×•Û ÈÛȩ́ ÛÛÁõ¶Ûà ÉÛÁõ©ÛÛé¶Ûé …ÍÛÁõ ïõÁéõ ™öé.’ – ˜Û˜ÛÛë. 
  “Reciprocal demand affects the terms of trade.” -  Explain. 

 (b) ¾Ûäî©ÛÈÛȩ́ ÛÛÁõ¶ÛÛ ÅÛÛ½ÛÛé ›÷¨ÛÛÈÛÛé. 
  Discuss the advantages of Free trade. 

 

2. ÅÛé̈ Û-þéù¨Û¶Ûà ©ÛäÅÛÛ …é¤øÅÛé ÉÛä× ? ÅÛé̈ Ûþéù¨Û¶Ûà ©ÛäÅÛÛ¾ÛÛ× …ÍÛ¾Û©ÛäÅÛÛ¶ÛÛ ïõÛÁõ¨ÛÛé ›÷¨ÛÛÈÛà ©Ûé þæùÁõ ïõÁõÈÛÛ¶ÛÛ× Š¸ÛÛýÛÛé 
˜Û˜ÛÛë.    14 

 What is balance of payment ? Give the causes of disequilibrium in balance of payment. 

Discuss the remedies to remove the disequilibrium. 

    …¬ÛÈÛÛ/OR 

 (a) ¼ÛÛÇ Š²Ûé•Û¶ÛÛ Áõ“Û¨Û¶Ûà þùÅÛàÅÛÛé ˜Û˜ÛÛë. 
  Discuss – Infant industry arguments in favour of protection. 

 (b) ¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ ÜÈÛÜ¶Û¾ÛýÛ þùÁõ. 
  Flexible exchange rate. 

 

3. ÜÈÛÜ¶Û¾ÛýÛ þùÁõ …×•Ûé¶ÛÛé ÍÛ¾Û”ÛÁõàþùÉÛÜî©Û¶ÛÛé ÜÍÛ±ùÛ×©Û ÍÛ¾Û›ÛÈÛà ©Ûé¶Ûà ¾ÛýÛÛÙþùÛ…Ûé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 14 

 Explain the Purchasing Power Parity theory of the rate of exchange and discuss its 

limitations. 

    …¬ÛÈÛÛ/OR 

 (a) ›ÛÐéüÁõ …¶Ûé ”ÛÛ¶Û•Ûà ÈÛÍ©Ûä…Ûé¶ÛÛ …¬ÛÙ …¶Ûé ÅÛ“Û¨ÛÛé. 
  Meaning and characteristics of private and public goods. 

 (b) ÁõÛšýÛ¶Ûà …ÛÈÛïõ¶ÛÛ ÍÛÛµÛ¶ÛÛé ›÷¨ÛÛÈÛÛé. 
  State the sources of Revenue for the Government. 
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4. ïõÁõÛ–ÛÛ©Û, ïõÁõÜÈÛÈÛ©ÛÙ¶Û …¶Ûé ïõÁõÍÛ×̧ ÛÛ©Û¶ÛÛ ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛà ïõÁõÍÛ×̧ ÛÛ©Û¶Ûé …ÍÛÁõ ïõÁõ¶ÛÛÁõÛ ¸ÛÜÁõ¼ÛÇÛé ÈÛ¨ÛÙÈÛÛé. 14 

 Explain the concept of impact, shifting and incidence of Taxation. What are the factors 

effecting the incidence of taxation ? 

    …¬ÛÈÛÛ/OR 

 (a) ”ÛÛµÛ ¸ÛæÁõÈÛ¨Ûà¶Ûà ©ÛÁõºéõ¨Û¶Ûà þùÅÛàÅÛÛé. 
  Arguments in favour of deficit Financing. 

 (b) ïõÁõÈÛéÁõÛ¶Ûà Š©¸ÛÛþù¶Û Š¸ÛÁõ¶Ûà …ÍÛÁõÛé. 
  Effects of taxation on production. 

 

5. ›ÛÐéüÁõþéùÈÛÛ¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛà, ›ÛÐéüÁõþéùÈÛÛ¶ÛÛ ¼ÛÛé›Û¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 14 

 Describe meaning and burden of Public debt. 

      …¬ÛÈÛÛ/OR 

 ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : (•Û¾Ûé ©Ûé ¼Ûé) 

 Write short notes : (any two) 

 (a) ¸ÛóÍÛÛÁõÅÛÛ½Û …¶Ûé ¸ÛóÍÛÛÁõ”Û˜ÛÙ 
  Spill over benefit and Spill over cost. 

 (b) ›ÛÐéüÁõ”Û˜ÛÙ¾ÛÛ× ÈÛµÛÛÁõÛé ¬ÛÈÛÛ¶ÛÛ ïõÛÁõ¨ÛÛé 
  Causes of increasing public expenditure. 

 (c) ïõÁõÈÛéÁõÛ¶ÛÛé ÅÛÛ½Û¶ÛÛé ÜÍÛ±ùÛ×©Û 
  Benefit theory of taxation. 

 (d) ¸ÛÁõÛé“Û ïõÁõÈÛéÁõÛ¶ÛÛ ÅÛÛ½ÛÛÅÛÛ½Û 
  Pros and Cons of Indirect taxes. 

 

____________ 


